Math: Semester 2 Study Guide Solution Key

1) Find if 1300 is divisible by 2, 3, 5, 6, 9, and 10?

Divisible by:

It's an even number.

1+3+0+0=4, which is not divisible by 3, so 1300 is
not, either.

ltendsina5or0.

It must be divisible by both 2 AND 3.

1+3+0+0=4, which is not divisible by 9, so 1300 is
not, either.
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2) Is 27 a composite number? Why or why not?

27 is a composite number because it has other
factors other than 1 and 27. It also has factors of 3
and 9.
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3) What the prime factorization of 84
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4) What is the GCF of 34 & 967
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5) What is the LCM of 16 and 407?
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6) Write two fractions equivalent to%
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5 3 . There are infinite possibilities.
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8) Write a mixed number equal to ‘%
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9) Which improper fraction is equa| to 5 % ;&;ﬁ:tcpoﬂx)ed number is equal to 4.85? (Put the fraction in
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11) Which number is the decimal equivalent of 7§ 12) Find the sum % " % . Show your work.
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13) Find the difference % - 220 . Show your work. 14) You planted/ég acres of corn yesterday and/g'é acres today.

How many more acres did you plant today?
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33) The opposite of -10 is 10.

Joe had $345 in his savings account. He deposited $45,
withdrew $92, and deposited another $105. Represent each
transaction as andinteger, and find the current balance in his account.
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345 +150 +(-a3)A103)
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35) 36) You can actually use only the 1/4 cups to get 2 1/2 cups.
.o ) - All you would need to do is measure with the 1/4 cup 10
The word "of" in mathematical terms actually represents multiplication. . _
Those two numbers should in fact be multiplied when you take "half of times. 10/4=21/2
the recipe."
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This is a unit rate because it is calculated for every ONE (1) gallon.
When a rate is calculated to ONE of some unit, it is defined as a unit rate.
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